
IQ Online Test

Sr Questions Answers Choice

1
Insert the first number in the series.
? 3 4 6 8 12

A. 4/3
B. 4/6
C. 3/4
D. 6/3

2
Insert the missing number.
7 49 441 ?

A. 442
B. 441
C. 449
D. 474

3
Electricity - Gas = 100
Jack - Jill = ?

A. 0
B. 4
C. 6
D. 2

4 Zn + Xt = Tz and Zv x Zr = Zjr what is z + z?
A. E
B. F
C. G
D. X

5

Insert the missing number.
3 24 4
5 120 100
1 0 ?

A. 2
B. 0
C. o
D. 4

6 Pomegranates - Piebald = Pilliwinkle -?
A. Pistachio
B. Pastiche
C. Petrol
D. Pestilence

7
Insert the missing number.
-1 -1 1 11 49 ?

A. 179
B. 169
C. 189
D. 199

8 If the girl without a boy is poor, and if she is worth 20, what is he worth?
A. 11
B. 16
C. 19
D. 13

9

Rembrandt = 83
Cezanne =  48
Constable = ?

A. 41
B. 44
C. 46
D. 49

10
Insert the missing letter.
E N S V ?

A. Q
B. X
C. G
D. R

11 Pastiche = Pestilence = ?
A. Lascivious
B. Pistachio
C. Sentiment
D. Pumpernickel

12

Driver = 7
Pedestrian = 11
Accident = ?

A. 9
B. 11
C. 13
D. 17

13
Insert the missing number.
8 10 16 34 ?

A. 78
B. 98
C. 88
D. 68

14 If caruso = 84 and Gigli = 56, how much is crosby worth?
A. 49
B. 29
C. 39
D. 19

15
Insert the missing number.
3 1/2, 4 7 14 49 ?

A. 348
B. 343
C. 342



C. 342
D. 352

16

Insert the 4 missing numbers.
(172 4 327 628) (67 4 19)
(4) (147 84 403 403 147 28) (? ? ? ?)

A. 147 4 172 7
B. 148 4 173 8
C. 149 4 174 9
D. 150 4 175 10

17

Insert the missing number.
Rewarded = 80
Coordinate = 75
Opinionated = ?

A. 88
B. 82
C. 87
D. 81

18
Insert the missing number.
2 20 42 68 ?

A. 92
B. 98
C. 96
D. 92

19

Insert the missing number.
Arid = 80
Dear = 89
Raid = 63
Read = ?

A. 49
B. 43
C. 47
D. 41

20
Continue the series:
1 1 2 3 5 8 13 21 ?

A. 34
B. 38
C. 32
D. 41


